
page 1 / 1F/GB 

S/ACC/1LK00200/B/24/04/2017

KIT Visserie
MOUNTING KITS

r     e     l     a     i     s
5, Rue Ampère BP30004     42290 SORBIERS - FRANCE        E-mail : celduc-relais@celduc.com

Fax +33 (0) 4 77 53 85 51            Service Commercial France Tél. : +33 (0) 4 77 53 90 20 
Sales Dept.For Europe Tel. : +33 (0) 4 77 53 90 21    Sales Dept. Asia : Tél. +33 (0) 4 77 53 90 19

www.celduc.com

4 Vis tête pozidrive 2
CLZ  M4 x 12 Ac. zingué

4 screws M4x12
POZIDRIVE 2

4 Rondelles contact
CS Ø 4 x 10 cadmiées
bichromaté
4 contact washer Ø 4 x 10

4 Appuis 12 x 8  x 2 
Ø 4,3 Inox ( plan 35.4.147 )
4 rectangular washer 
12x8x2mm

4 Ecrous QL M4 
( carré de 8 ) Ac. zingué
4 squae nuts M4

4 Vis tête pozidriv
CLZ  M4 x 16 Ac. 
zingué

4 screws M4x16
POZIDRIVE 2

4 Vis tête PHILIPS
 M5 x 10 avec rondelle
imperdable


